

DATE PRINTED

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

-				
SO	lici	1121		103
		u	uv	ш

SH-P TO

NUMBER DPS1431

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE

304-558-2544

RFQ COPY

Consolidated Spectrum Services 231 Sagamore Road Gilford, NH 03249

WEST	AII	KGINIA	STATE	POLICE	
VARIO BY 0			ES AS	INDICATED)

05/03 BID OPENING DA	L/2014 FE: 05/	14/2014		P	BID OPENING TIME	01:30PM
LINE	QUANTITY	UOP	CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
		A	DDENDUM	I NO. 1		<i>b</i>
	SEE ATTAC	HED PAGE	s.			- 6
		END OF	ADDENDU	M. NO. 1		
001		LS	72	5-61		
	RADIO AND		VE FREQ	UENCY COORD	TION	
					1	
	***** TI	HIS IS T	HE END	OF RFQ D	PS1431 ***** TC	TAL:\$9825.00
						,
			05/14/	14 04-07	1747	
			West U	14 01:03:55PM irginia Purchas:		
						t
NATURE				TELEPHON	JE	DATE
.E		FEIN			ADDRESS CH	ANGES TO BE NOTED ABOVE

000002

SOLICITATION NUMBER: DPS1431

Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as DPS1431 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[X]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[X]	Other

Description of Modification to Solicitation:

- 1. Response to vendor question attached.
- 2. Revised pricing pages attached.
- 3. The bid opening date have moved from 05/07/2014 to 05/14/2014.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

DPS1431 — Pricing Pages Revised by Addendum No. 1

		*Estimated		
	4	Annual		Extended
Item #	Description	Quantity	Unit Price	Price
4.1.1.1	Below 520 MHz frequency coordination (Per frequency	5	\$	s NO BID
4.1.1.2	Below 520 MHz frequency coordination (Per pair)	5	\$	\$ NO BID
4.1.1.3	769-775/799-805 MHz frequency coordination (Per frequency)	2	\$	\$ NO BID
4.1.1.4	769-775/799-805 MHz frequency coordination (Per pair)	2	\$	\$ NO BID
4.1.1.5	806-817/851-862 MHz (NPSPAC) frequency coordination (Per frequency)	2	\$	\$ NO BID
4.1.1.6	806-817/851-861 MHz (NPSPAC frequency coordination (Per pair)	2	\$	\$ NO BID
4.1.1.7	806-817/851-862 MHz (Non-NPSPAC, General Pool) frequency coordination (Per frequency)	2	\$	NO BID
4.1.1.8	806-817/851-862 MHz (Non-NPSPAC, General Pool) frequency coordination (Per pair)	2	\$	NO BID
4.1.1.9	License preparation Fee	5	\$	\$ NO BID
4.1.1.10	Interoperable License Administrative Fee	5	\$	\$ NO BID
4.1.1.11	Public Safety Coordination Council inter- service coordination Fee	5	\$	\$ NO BID
4.1.1.12	Miscellaneous services – Hourly Rate	5	\$	\$ NO BID
4.1.2.1	Microwave frequency coordination, Interference Analysis (Single frequency)	5	\$ 200.00	\$1,000.00
4.1.2.2	Microwave frequency coordination, Prior coordination, 1st path	5	\$ 225.00	\$1,125.00
4.1.2.3	Microwave frequency coordination, each additional path / freq.	5	\$ 200.00	\$1,.000.00
4.1.2.4	Microwave frequency coordination, Minor changes and modifications	2	\$ 200.00	\$ 400.00
4.1.2.5	Microwave frequency coordination, Prior coordination, No response Microwave frequency coordination, 6	2	\$ 200.00	\$ 400.00
4.1.2.6	month renewal notice, 1st path	2	\$ 75.00	\$ 150.00
4.1.2.7	Microwave frequency coordination, Verbal coordination - expedited (2 WK M) Microwave frequency coordination,	N) 2	\$225.00	\$ 450.00
4.1.2.8	Verbal coordination, each additional Microwave frequency coordination,	2	\$225.00	\$ 450.00
4.1.2.9	Frequency Protection Microwave frequency coordination,	100	r\$ 250/month	\$3000.00
4.1.2.10	License Audits Microwave frequency coordination,	2	\$ 75/month	\$900.00
4.1.2.11	Interference Analysis Microwave frequency coordination,	2	\$200.00	\$100.00
4.1.2.12	License Preparation Fee Microwave frequency coordination,	2	\$200.00	400.00
4.1.2.13	Miscellaneous Services – Hourly Rate	2	\$ 75	\$.500150.00
	Failure to use this form may result i disqualification.	in	OVERALL TOTAL:	9825.00 \$

- Q10: 22. Small, Women-owned, or minority –owned businesses: Please provide more details regarding MWBE certification for this RFP, i.e. what is the primary contact's information and process to proceed with this certification? What is the estimated time it takes to receive certification? Would you disqualify vendors whom are unable to receive the certification in time for bid submittal?
- A10: See the vendor registration page, link provided -

http://www.state.wv.us/admin/purchase/VendorReg.html

Clarifications:

- 1. To delete Section 4.1.1.4 in its entirety and replace with the following:
 - 4.1.1.4 769-775/799-805 MHz frequency coordination (per pair).

See revised pricing pages attached.

- 2. To delete Section 4.1.1.6 in its entirety and replace with the following:
 - 4.1.1.6 806-817/851-862 MHz (NPSPAC) frequency coordination (per pair).

See revised pricing pages attached.

- 3. To delete Section 4.1.1.8 in its entirety and replace with the following:
 - 4.1.1.8 806-821/851-866 MHz (non-NPSPAC, General Pool) frequency coordination (per pair).

See revised pricing pages attached.

Other Information:

1. The bid opening has been moved from 05/07/2014 to 05/14/2014. The bid opening time remains at 1:30 pm.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: DPS1431

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Adden	Addendum Numbers Received:									
(Check the box next to each addendum received)										
	[]	⁽]	Addendum No. 1	[]	Addendum No. 6				
]]	Addendum No. 2	[]	Addendum No. 7				
	[]	Addendum No. 3	[]	Addendum No. 8				
	[]	Addendum No. 4	[]	Addendum No. 9				
1	[]	Addendum No. 5	[1	Addendum No. 10				

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

CONSOLIDATED	SPECTRUM SERVICES
	Company
Howard En	iten
	Authorized Signature
05/11/2014	
	Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Bidder / Vendor Information:

Name:

COnsolidated Spectrum Services

Address:

231 Sagamore Road

Gilford, NH 03249

Phone #:/Fax: 603-293-0002

Email

Sales@FCC1.biz

Address:

Contact Coordinator Information:

Name:

Howard Epstein

Address:

231 Sagamore Road

Gilford, NH 603-293-0002 03249

Phone #:

Email

Howard@FCC1.biz

Address:

*Quantities are estimated annual usage for bidding purposes and bidder's information.

SOLICITATION NUMBER: DPS1431

Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as DPS1431 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum	Category:
---------------------	-----------

[X]	Modify hid opening date and time	
[]	Modify specifications of product or service being sought	
[X]	Attachment of vendor questions and responses	
[]	Attachment of pre-bid sign-in sheet	
[]	Correction of error	
[X]	Other	05/07/14 01:29:37PM West Virginia Purchasing Division

Description of Modification to Solicitation:

- 1. Response to vendor question attached.
- 2. Revised pricing pages attached.
- The bid opening date have moved from 05/07/2014 to 05/14/2014.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

PAGE 02

ADDENDUM ACKNOWLEDGEMENT FORM SQLICITATION NO.: DPS1431

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

			umbers Received: c next to each addendum recei	ived	1)				
[N/	1	Addendum No. I	Ţ]	Addendum No. 6			
[]	Addendum No. 2	[.]	Addendum No. 7			
Ţ]	Addendum No. 3	[)	Addendum No. 8			
(e 6	j	Addendum No. 4	ſ	J	Addendum No. 9			
]]	Addendum No. 5	[]	Addendum No. 10			
further o	I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.								
	CONSOLIDATED SPECTRUM SERVICES								
Howard Ender									

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Authorized Signature
05/07/2019

300000

DPS1431 – Pricing Pages Revised by Addendum No. 1

Item #	Description	*Estimated Annual Quantity	Unit Price	Extended Price
4.1.1.1	Below 320 MHz frequency coordination (Per frequency	5	\$	S NO BID
4.1.1.2	Balow 520 MHz Precuency coordination (Per pair)	5	\$	5 NO B 10
4.1.1.3	769-775/799-805 MHz frequency coordination (Per frequency)	2	\$	5 NO BID
4.1.1.4	769-775/799-805 MHz frequency coordination (Per pair)	2	\$	S NO BID
4.1,1,5	808-817/851-862 MHz (NPSPAC) [requency coordination (Per frequency)	2	T _{\$}	3 NU BIN
4.1.1.6	808-817/861-861 MHx (NPSPAC frequency coordination (Per pair)	2	s	\$ NO 810
4.1.1.7	606-817/851-862 MHz (Non-NPSPAC, General Pool) frequency coordination (Par frequency)	2	\$, NO BIO
4.1.1.8	806-817/851-862 MHz (Non-NPSPAC, General Pool) frequency coordination (Per poir)	2	\$	3 NO 81
4.1.1.9	License preparation Fea	5	[\$	3 NO BIB
4.1,1.10	Interoperable License Administrative Fee	8	\$	S NO BO
4.1.1:11	Public Safety Coordination Council Inter- service coordination Fee	5	\$	\$ NO 31
4.1,1.12	Miscellancous services - Mourly Rate	5	\$	5 NO BID
4.1.2.1	Microwave frequency coordination, Interference Analysis (Single Proguency)	5	\$ 200	± 1000
4.1.2.2	Microwave frequency coordination, Prior coordination, 1 st path	5	\$ 235	\$ 1125
4.1.2.3	Microwave frequency coordination, each additional path	5	\$ 200	\$ 1000
4.1.2.4	Microwave frequency coordination, Minur changes and modifications	2	\$ 200	± 400
4,1.2.5	Microwave frequency coordination, Prior coordination, No response	2	\$ 200	5 400
4.1.2.6	Microwave frequency coordination, 6 month renewal notice, 1st path	2	\$ 75	\$ 150
4.1.2.7	Microwave frequency coordination, Varbal coordination - expedited 4 2 PKE Mic	2	\$ 225	\$ 456
4.1.2.8	Microwave frequency coordination, Verbal coordination, each additional	2	\$ 225	\$ 450
4.1.2.9	Microwave frequency coordination, Frequency Protection	100	\$ 350 las	
4.1,2.10	Microwave frequency coordination,	1	\$ 75 / none	\$ 900
4.1.2.11	Microwave frequency coordination, Interference Analysis	2	\$ 200	y 400
4,1,2,12	Microwave frequency coordination, License Preparation Pag	2	\$ 200	\$ 400
4.1.2.13	Microwave frequency coordination, Miscollaneous Services — Heurly Rete	2	\$ 75	s 150
	Failure to use this form may result ! disquelification.	n	OVERALL TOTAL:	* 9325

PAGE 04

Bidder / Vendor Information: HOWARD EPSTEIN/ CONSOLIDATED SPECTRUM SERVE Name: 231 SAGAMORY AP Address: 616 FORR, N.H. 03249 Phone #: 603-293-0002 Email BALGE CFCC1. bis Address: CEU: 603-362-5977 Contact Coordinator Information: HOWARD EPSTEIN Name: 271 SAGATTORE RD Address; 603-293-0002 Phone #: HOWARD @ FCC2 - 617 Emall Address:

*Quantities are estimated annual usage for bidding purposes and bidder's information.